HSE 11
SECOND YEAR HIGHER SECONDARY SAMPLE QUESTION PAPER

Part 11l BIOLOGY- ZOOLOGY Time : | Hr.
Cool of time: 15 Minutes
Maximum mark :30 Preparatory time : 5 Minutes

Answer any three questions from 1 to 5. Each carries 1 score.
(@69 @mMIxIssAOI@ 1 MOT 5 QIO G2DBKEIBWRES AFO@EsIae BT af)IHOTIM DOm0 af)I®)b:.)

(832601 mAH6 Qoo )

1) Nutrition to germ cells are given by ........cccccoc.....
enf1EREHIVOM GaldaUEMo ML CBIWDDIED........eee

2) Expand MMR.
MMR 6@ o @D®)ato af)9))b>.
3) Identify the following symbols in pedigree Analysis

@209 @AM Oalall(UI]l allamerwd Aw)e B@)o agadilom auyafloflenymm,?

[0 L]

4) The process of removal of introns are called
a)Termination b) Splicing c) Tailing d) Elongation
OMB(SIM B0 O2IQYM (al(Bl@ 6T
ag)) 6sddlemauad enil) Mieegimilet) M) asellss’ ll) e

5) The property of cancerous cells reaching distant sites in our body is called ................
HPDIVA CHIVEBRUW VAlEOTIOM B0) @INO) AT AOQIO) BINGOOEE AUPaTLOIM (Al(HIW aB®?

Answer any 9 questions from 6 to 16. Each carries 2 scores.
(6 2@ 9 WOOWYBB EaNRERWDEE ABO@BEN I af)EPOTIM PO af) YD) H:. C6NE MIBHS Aflo)

6) The process given below shows Central dogma of molecular Biology.
c8le6)end snicIsHldlnal (@mI@) LlauIMI(@o) HAVM(STD BUIDWOS (G (B@@ o) 2Nl(@o

©IOP OBISIBN)TN).

B

A
c Transcription
DNA MRNA =) Protein
a) Name the Process in A and B.
Adlene Bdilene Ms#e)mm (al(@1@@0d ag) @)

b) Who proposed Central dogma ?
OMVM(S@ BAID BRAUIMBlA]l.] VI LENM @O ?

7) The structure of sperm is given below.
aljosnflROmOM 2ll(@o @09 ®aBIdlHe)M,.

a) Name A and B in the following figure.
2N(@OTN@ A @)o B @)o @RSQIBEIS)OT) .

b) Write the function of A.
A @65 WAMEAT?



8) In a cross between true-breeding red-flowered (RR) and true- breeding white-flowered plants
(rr), the F 1 hybrids showed intermediate character between both parents.

U0)ELAIBYETI OIS 2 RAUAN ARHOSBS MVAVINIo VOYRLAUBYTTHTWOQS HAUSIOTD ARHOSIBS TVTVINo
@Al TVEEMe MSOMWEAIUWB BaMlo @AIMOWDIOAI TVTVIERUW MM all@yTLILIEESIHS AWCITIa)ss
MO0 (aldSlafla)).

a) Name the type of inheritance in this cross.
DD AB®) OOOVENSS a DOMIYB(AlaHEMAIEM?

b) Illustrate the above cross with ratio.
0D AUBQPAVB06Mo 2@ EA).0] MDD BHENBOINE:.

9) During his journey Darwin observed an amazing diversity of creatures. One of such diversity is

given below.
wiBalld @eM IO AU@IMIOEREI® KQIRIIEROS H06MBOT]. HODOOIL)Ss 60) Hlaloyes

2(@o0 @69 65O GleeM.

a) Explain the evolutionary process in the figure.
2N(@ODNORI alBleMIN(A(dH]Q BH6ENBTINE:.

b) Give two other examples of this process.
DO AlBlEMIAMTIM BQ) V6N DBIAOQETEBBUW B S| g 93>

10) Complete the chart given below
@69 OIIES 21DBT al)AOTTWILO) .

Immunity (corv(aicleowaewoa)

Innate Immunity (cuneralle:eo!IGleow Ul  ....c..ca........ A
wBan C.... Cellular Barriers ... D.........

(el (eI mweaBE )

11) Match the following

(621@)0nlS] GoIAHE)d)

Lactobacillus Mould Ethanol
Saccharomyces cerevisiae Fungus Penicillin
Trichoderma polysporum Yeast Lactic acid
Penicillium notatum. bacterium Cyclosporin A
eng:esiennmilaimy’ amualy Af)LOGMIUD
TVSENIEINODTVMS TVBGAUMIIOW | afotIMY ealdmilellad
06(SELHIOWARD GahEMIGaN0e | @iy 2D Sld @rRymilal)
eaimlmilelle 6MIGZQo NI S| Blo OOMVEHHIMVIGANGIMD A




12) Amino acid composition of the relevant portion of  -chain of haemoglobin of Normal person is

given below.
80) MIWIesMalsDldeal adlemegimiem enilgd eaidlafleal @edlemd @rMIla)H8)es caism

#2616 afl(@o @6 @aVIdlesam).
Normal HbA peptide

e (e (G

a) Write amino acid sequence of the sickle cell anaemic person.
@RAIQRB GEIW NHDWIO AUBTIWHS @RAIGMI BRHIVIW)EE)eS aISM afl(@le:@loe)s:.

b) Write the cause of this disorder.
DD GRINOTNOM BIO6TNo HEETBOTT) .

13) Features of some genetic disorders are given below. Identify the disorders.
aflel RO OOQUBEIEERS)OS RIGHEMEBBUID IO EIS)ORIGIEN)IN). OOQUBEIEETRUD ag)PIO)b:.

a) non-stop bleeding occurs
M eI H0I O OB (DU DETBIHY(MN)

b) lacks the enzyme phenylalanine hydroxylase.
a0lOeM@ @RAIMIM HOANGWIBHOONMIGRIMY ag)M @ITVIUTIOS B0l

c) furrowed tongue, partially open mouth.
2)SlANSS)88 MIQT, ald:)@ @O QNW.

d) under developed feminine characters
M(SBHEI@ o6 loufld: MVIBIAI TVANEUHOBHE)OS B0l

14) Categorise the following with correct headings.
92/lO2IQ OEIOBOSIEHUW M@ @00 @IB16).0]9I) b

Tubectomy, Condoms, CuT, Cervical caps, Multiload 375, Saheli, Vasectomy.
SYENIBSA], GBIV, G |BS], HMVAQINEO@ BdaTm, ardgleanay 375, avsanell, anmuasal

15) The figure given below shows a process in molecular biology.
e2Elee)LNd NICRISEKIWAS B0) (AI(EHIQWIM IO 6HIS)O)S)BS.

5' 3

3 N\ 8
a) Name the process.
DD (al(BD af)TBIOM BHIEMBeaM).
b) Correct and redraw the picture.
2fl(@o 6@ YO RO UOWBE)b>.

¢) Name an enzyme involved in this process.
D (al(H DI DUWOSSSS B0} CITVINMIWOS GalHOP)D)b>.



16) Comparative anatomy and morphology shows similarities and differences among organisms. An example

of such organ is given below.
@RIMO QISMI GIO®AY AlOMARo ENIAOKYal PRISMI aloMo FHlalle:Wd @adlanss MadMOH8)o

Q@PILEBRS)o AluElE:dlENM). EROMOORENSS B0} 2N(@@IET IO 6B:IS)OBClEH)MT).

a) ldentify the picture.
2l(@o @ @l.ojSla)ess.

b) Write the evolutionary significance of the following structure.
0 Lfl(@o0 B AlBlEMID(AI(BIWO® BI6Tleeam)?

c) Give two other examples showing this type of evolution.
DO alBlEMIA(I(HIQW S OY O6TE DBIADOEMEIBUR Br)S| af)9)O)b>.
Answer any 3 questions from 17 to 20. Each carries 3 scores.
(17 2@ 20 AUIOOW)SS GaDBIERWEE MOINEPOTIM QCMHOOHDLYM . @YD BAH6) afleo)

17) Observe the picture given below.
@69 OBIS)OH PSS 21(@o T B 5] DOV )Y B>.

a) Label the parts Aand B
2f(@oilad A, B @068RU1 @oSQISeq]S)omm)d:

b) Placenta act as a endocrine gland. Justify.
P2MV@ 80) @ (MLA]l (PVMAWIW (AIAUIBETIBHYIN), TVW)ESlHe).

c) During pregnancy the levels of other hormones are increased several folds in the maternal blood. Why?
NBBSILIOD DI OBNORTD alel Ga0IBERITMBHBIOSW)o @RS alel MS6ER AIARLIENM). )T OBHI6NE?

18) Lac operon in the presence of inducer is given below.
BIOBRISHOTOM @MW IOT eSS P=Tol: ) 82]e026mlOM all(@o @aIdleeyam).

P i P . z ¥ a In absence of inducer

Repressor binds to the operator region(o)
B and prevents RNA polymerase from
Repressor mRNA transcribing the operon

-

Repressor




a) Redraw the figure in the presence of inducer.
Bl lOd> CAISHEBIOM TVITHWICIENSS 2ll(@o QIGWH6)H:.

b) Which substrate act as an inducer in Lac operon?
B O @@I(@IE GalQBRISHRIW] (A IUBBH L) M@ ?

19) AIDS has no cure, prevention is the best option.
) DUMIIM a0.l(a 13RI 2lElon e, GoXWe AIEIIGlEIMIE (VELIGHSEMBT.

a) Name the virus which cause AIDS.
) DAUIMSIM S06MAIW GRINIEMN) aB® ?

b) Write the diagnostic test for AIDS.
o)DM 30IWe WA BHIMSS A IBIGUILM aB®?

c) Write four methods of transmission of AIDS virus.
af) QUMY 30INIEM) BIS@BDINT 26QIIElEaIBs QP llenmBs MIAT MINO2IQBBUD Ag)P)O)d:.

20) The accelerated rates of species extinctions that the world is facing now are largely due to human

activities. There are four major causes of biodiversity losses.
DM GRDd0 GMAIG OBHIEIEO)N UGS ASIASE]ANSS AUoUdMIEBURSE (AIWIM HIVEMo AMIAUEOPD

(IR BSI6M. MIEN (alWIM BHIOMEBBUR HORAUSOAUAQINWY MUWBBTIM allarlensns.

a) Write the four major causes (‘ The Evil Quartet *) of biodiversity losses.
0ORAUOOQAUQTWY MM &I0MAIW MIET BIOIEBRUW( GIMMWYOS 2ID)UCEIEMo) af) IO b:.

b) Explain Co-extinctions with example.
MVANQICUOMIUDe DBIANAEM MVaSl®o QflQIBIEe)b:.
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